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 GOLDEN JUBILEE SCHOOL 

Session 2020-21 

Class-I 

Subject: ART 

Study Material  

Dear Parents/Students, 

Kindly follow these Instructions:- 

1.)  Draw and colour the poster in your drawing copy. 

2.)  Children can use any colours that are available at the home. 

 

 



Jagat Taran Golden Jubilee School 

Session 2020 -2021 

Class I          

Subject : Computer Science                                                                                       Assignment  :   3 

 

Work to be done in notebook: 

a) Fill the missing letters: 

i. CO_PU_ER 

ii. M_CHI_E 

iii. W_SHING MA_HINE 

iv. MI_ER 

v. RE_FRIGER_TOR 

vi. A_ROP_LANE 

vii. C_R 

viii. RICKSHAW 

ix. SW_ING MA_HINE 

x. B_AT 

b) Draw and colour the picture of any two machines. {For example- Fan, Juicer, 

Computer or Calculator etc.} 

 

Note:- 

Lesson 3- Do all exercises in book only.  

Activity: Paste the pictures of six places where computer are used.{ like bank, hospital, office etc.} 

Online link :- https://www.youtube.com/watch?v=FypkPUscUX8 

 

 

https://www.youtube.com/watch?v=FypkPUscUX8












 

46/32B, A.N. JHA MARG, GEORGE TOWN, PRAYAGRAJ                    0532-2468802                  www.jtgjschool.in 

 

 GOLDEN JUBILEE SCHOOL 

 

Session 2020-21 

Class-I 

Subject: ENGLISH 

Book: The English Channel  by Indiannica Learning Pvt. Ltd. 

(Study Material) 

Assignment:3 

Dear Parents/Students, 

Kindly follow these Instructions: - 

1. Type https://play.google.com/store/apps/details?id= com.indiannica 

2. Download the ILP app. 

3. Select the following chapters  

a)-Chp. 1- Picnic with Pixi 

b)- Chp. 2- At the Farm 

4. Watch the animated videos carefully. 

5. Now, complete the given assignment (for each chapter) in your English 

notebook. Chp. 1 Picnic with Pixi 

Hard Words (Write in your English notebook) 

1. Sunny 

2. Family 

3. Park 
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4. Enjoy 

5. Naughty 

6. Bubble 

7. Burst 

8. Clean 

Question/Answer (Do in your fair copy)  

Q1. Where did the Modi family go? 

A1. The Modi family went to the park.  

Q2. What is the name of their pet dog?  

A2. Pick, is their pet dog. 

Q3. What did they eat? 

A3. They are cake  and sandwiches. Chp. 

2 At the Farm 

Hard Words (Write in your English 

notebook) 

1. Farm 

2. Chicks 

3. Pretty 
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4. Calf 

5. Bath 

6. Grass 

7. Sheepfold 

8. Brown 

 

Question/Answer (Do in the fair copy)  

Q1. Where does Zubin live? 

A1. Zubin lives in a city.  

Q2. Who is Daisy? 

A2. Daisy is the big brown cow.  

Q3. Where is Blackie? 

A3. Blackie is in his kennel. 

 



JTGOLDENJUBILEESCHOOL

Session-(2020-2021)

Class-1MATHS-(Book-MATHSWIZ)

StudyMaterial:

Followtheinstructionsgivenbelow-

1)VisitanddownloadstudymaterialfromJTGJSschoolwebsite

(https://jtgjschool.in)

2)DownloadthePDFofclass1.

3)OpentheChapter5-MoreonadditionandSubtractionPage

nos-69to87.Doexercisesfrom5Ato5H&Chapter6-

MultiplicationPagenos-89to107.Dotheexercisesfrom6Ato6G

4)Numbernamesandnumeralsfrom100to200

5)Before,AfterandBetween(1to200)

6)Putthecorrectsign<,>,=(1to200)

<Note>...

1)Dothegivenexercisesinyouroldnotebook/Anyother

notebookavailableathome.

2)Beforesolvingtheexerciseskindlywatchthevideos

thoroughlyandgothroughthemattergiveninthePDF

Forclass1Maths

Chapter5andchapter6

Videotutorialsofthelessons.

Toaccessthevideosclickthegivenlink

1)https://youtu.be/klRqKm5nX_

2)https://youtu.be/qGjFCnxtRGw



3)https://youtu.be/fZFwHpiAVE0
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MathsWiz-01

T O
2

T O
1 5

More on Addition 
and Subtraction 5

ADDING TENS AND ONES
So far we have learnt how to add numbers and find sums up to 20 by actual 
counting. Now, we will learn how we can add bigger 2-digit numbers and 
1-digit numbers without actual counting.
Let us add 13 and 2.

 and 	

Short Method
Step 1:	� Arrange the numbers one 

below the other as shown on 
the right.

Step 2:	 Add the ones.
		  4 ones + 5 ones = 9 ones
		  Write 9 in the ones column below the line.
Step 3:	� There are 2 tens in the tens column. So, 

write 2 in the tens column below the line. 
The answer is 29.

Let us now add 24 and 5. 
We have: 
24 + 5 
= 20 + 4 + 5
= 20 + 9
= 29

Combine 3 beads and 2 beads

In the 
abacus 
we add 
as:

1 3
+ 2

T O
1 3

+ 2
1 5 T O

1 3

=+

T O
2 4

+ 5
2 9
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EXERCISE 5A

T O

5 0
+ 7

T O

8 2
+ 0

Teacher’s Tip
Tell the children that we can add a 2-digit number and a 1-digit number by counting forward.

For example, to add 4 and 45, think of 45. Then count 4 numbers forward as

46 , 47 , 48 , 49 . Stop at 49, which is the required sum. Give practice questions based on the method.

Add the following. One has been done for you.

T O

3 3
+ 6

3 9

1.	 2.	 3.	 4.	 5.T O

4 4
+ 4

T O

6 4
+ 2

T O

5 6
+ 2

T O

2
+ 1 7

T O

5
+ 8 2

T O

3 1
+ 5

T O

6 1
+ 7

6.	 7.	 8.	 9.	 10.

T O

8 5
+ 0

T O

4
+ 8 4

T O

4 2
+ 6

T O

8 3
+ 5

T O

7 5
+ 3

11.	 12.	 13.	 14.	 15.

T O

5
+ 6 2

T O

1 9
+ 0

T O

6 5
+ 4

T O

4 3
+ 6

16.	 17.	 18.	 19.	 20. T O

3 7
+ 1© S C
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Class Work

Find the sum.

1.		      1	 ten 			    10
	 + 2	 tens		  +	 20
	 	 tens	 =		  	

	 2.		      6	  tens 			    60
	 + 2	 tens		  +	 20
	 	 tens	 =	 	

3.		      5	  tens 			    50
	 + 4	 tens		  +	 40
	 	 tens	 =	 	

	 4.			      4	  tens 		   40
	 + 4	 tens	 +	 40
	 	 tens	 =	 	
			

ADDING TENS

	 2 tens	 +	 3 tens	 =	 5 tens
	 20	 +	 30	 =	 50

+

20
+ 30

50

Similarly,

+

50
+ 30

80

	 5 tens	 +	 3 tens	 =	 8 tens
	 50	 +	 30	 =	 80

+

60
+ 30

90

	 6 tens	 +	 3 tens	 =	 9 tens
	 60	 +	 30	 =	 90
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1.	 Add the tens.

	 (a)	 1 ten 	 + 	 1 ten 	 =	  tens		  10 + 10 	 = 	

	 (b)	 2 tens 	 + 	 4 tens	 =	  tens		  20 + 40 	 =	

	 (c)	 1 ten 	 + 	 5 tens 	 =	  tens		  10 + 50 	 =	

	 (d)	 7 tens 	 + 	 2 tens 	 =	  tens		  70 + 20 	 =	

	 (e)	 4 tens 	 + 	 3 tens	 =	  tens		  40 + 30 	 =	

	 (f)	 3 tens 	 + 	 5 tens	 =	  tens		  30 + 50 	 =	

	 (g)	 1 ten 	 +	 6 tens	 =	  tens		  10 + 60 	 = 	

	 (h)	 5 tens 	 + 	 5 tens	 =	  tens		  50 + 50 	 =	

	 (i)	 3 tens 	 + 	 1 ten 	 =	  tens		  30 + 10 	 =	

2.	 Solve:

	

T O
3 0

+ 6 0

T O
5 0

+ 2 0

(a)

(e)

(b)

(f )

T O
1 0

+ 7 0

T O
8 0

+ 1 0

(c)

(g)

T O
3 0

+ 3 0

T O
2 0

+ 3 0

(d)

(h)

T O
7 0

+ 2 0

T O
6 0

+ 1 0

EXERCISE 5B

© S C
ha

nd
 an

d C
om

pa
ny

 Pvt 
Ltd



73

MathsWiz-01

ADDING 2-DIGIT NUMBERS (Without Carrying)

4 2
+  2 3

Think
4 0 + 2

+  2 0 + 3
6 0 + 5

Write
4 2

+  2 3
6 5

Short Method
Step 1:	 Arrange the numbers in the columns of tens and ones.
Step 2:	 Add the ones.
	 2 ones + 3 ones = 5 ones
	 Write 5 under the ones column.
Step 3:	 Add the tens.
	 4 tens + 2 tens = 6 tens
	 Write 6 under the tens column. The answer is 65.

T O
4 2

+ 2 3
6 5

Add:
  1.	 2.	 3.	 4.	 5.

EXERCISE 5C

+

T O
3 5

+ 4 4
7 9

T O
8 1

+ 1 6

T O
6 7

+ 2 2

T O
5 4

+ 4 5

T O
1 5

+ 4 2

  6.	 7.	 8.	 9.	 10.T O
7 7

+ 2 0

T O
1 5

+ 7 3

T O
3 3

+ 2 4

T O
4 5

+ 2 4

T O
7 9

+ 2 0

11.	 12.	 13.	 14.	 15.T O
7 3

+ 1 3

T O
1 4

+ 8 2

T O
1 0

+ 6 3

T O
5 9

+ 3 0

T O
2 1

+ 5 5

Let us add 42 and 23.
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ADDING 2-DIGIT NUMBERS (With Carrying)

We can add the numbers using the following three methods.
A.	 Add 25 and 38.
1.	 Pictorial Method

2.	 Expanded form Method
	 2 5	 =	 2 tens +  5 ones
	 + 3 8	 = +	3 tens +  8 ones

		  =	 5 tens + 13 ones
		  =	 5 tens + 1 ten + 3 ones
		  =	 6 tens + 3 ones
		  =	 63

B.	 Add 58 and 36.		

T O
5 8

+ 3 6

Adding ones

T O
1

5 8
+ 3 6

9 4

Adding tens

Carry

14 = 10 + 4

3.	 Short Method
T O
1

2 5
+ 3 8

6 3

Carry 1 ten to tens’ 
column as 1.

13 = 10 + 3

The answer is 63.
Adding ones

Adding tens

In practice, 
we follow the 

short method 
for adding the 

numbers.

10 ones are regrouped as 1 ten and
carried over to the tens column.

=

=

}
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Write 6 
of the 
16 ones

Explanation
Step 1:	� Add the ones. 8 and 6 make 14. Write 4 under 6 in the ones column 

and carry 1 of 14 to the tens column.
Step 2:	� Add the tens. 1 (carried over) + 5 + 3 = 9. Write 9 under 3 in the 

tens column. The answer is 94.

C.	 Add 59 and 27.
	 Step 1:	 Add the ones.
			   9 ones +  7 ones = 16 ones
	 Step 2:	 Regroup 16 ones.
				   16 ones = 1 ten and 6 ones
	�		   Write 6 ones under the ones 		

		  column and carry 1 ten of 16 		
		  above the tens column.

	 Step 3:	 Add the tens.
			   1 ten (carried over) + 5 tens + 2 tens = 8 tens
			   Write 8 in the tens column.
			   The answer is 86.

T  O
5  9

+ 2  7
16

T O
1

5 9
+ 2 7

 6

Carry

T O
1

5 9
+ 2 7

8 6
Class Work

Add the following.
1. T O

1

3 8
+ 1 3

5 1

1

	

2. T O

3 8
+ 3 4

	

3. T O

5 6
+ 2 6

	

4. T O

6 5
+ 1 8

5. T O

3 5
+ 1 6

	

6. T O

3 7
+ 2 7

	

7. T O

4 5
+ 2 7

	

8. T O

7 6
+ 1 8

1

1 6
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Add the following. One has been done for you.

EXERCISE 5D

6. 7. 8. T O

1 7
+ 5 6

T O

4 3
+ 3 7

T O

7 1
+ 1 9

1. 2. 3. 4. 5.T O

4 8
+ 3 9

T O

3 8
+ 1 6

T O

1
6 7

+ 2 4
9 1

T O

1 9
+ 1 9

T O

4 8
+ 4 2

9. 10. 11. 12. 13.T O

2 4
+ 6 9

T O

2 2
+ 5 8

T O

2 9
+ 5 4

T O

4 7
+ 3 5

T O

5 9
+ 3 1

14. 15. 16. 17. 18.T O

5 7
+ 3 5

T O

1 1
+ 1 9

T O

7 8
+ 1 6

T O

3 7
+ 3 6

T O

6 8
+ 1 8

19. 20.T O

4 4
+ 2 6

T O

4 7
+ 1 6
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Short Method
Step 1:	 Arrange the numbers one below the other as shown.
Step 2: 	 Subtract the ones.
		  6 ones – 2 ones = 4 ones
		  Write 4 in the ones column below the line.
Step 3:	� There are 5 tens in the tens column.   

So, write 5 in the tens column below the line.
		  The answer is 54.

SUBTRACTING ONES FROM 2-DIGIT NUMBERS
Let us subtract 2 from 56.

Take away 2 ones from 6 ones. 4 ones are left.

56
– 2

50 + 6
– 2

50 + 4 = 54

=
=

1.	 Subtract the following. One has been done for you.

EXERCISE 5E

(a)

(e)

T O

5 8
– 3

5 5

T O

2 6
– 3

(b)

(f)

T O

1 6
– 2

T O

6 8
– 2

(c)

(g)

T O

8 9
– 6

T O

4 7
– 5

(d)

(h)

T O

3 7
– 4

T O

6 9
– 7

T O
5 6

– 2
5 4
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Teacher’s Tip
Tell the children that we can subtract a 1-digit number from a 2-digit number by counting backwards.
For example, to subtract 5 from 50, think of 50. Then count 5 numbers backwards from 50 as  49 , 48 , 47 , 46 , 45 .
The fifth number is 45, which is the required answer. Give practice questions based on this method.

Quick Review

1.	 Fill in the missing numbers.  65

2.	 Tick (ü) the smaller number. 85    76
3.	� Tick (ü) the correct answer.
	 4 tens 6 ones is	 (a) 64		   (b) 46
4.	 Draw the number 1 more than 75 on the abacus.

2.	 Solve the following.

(e) T O

4 9
– 6

(f) T O

3 9
– 8

(g) T O

2 8
– 4

(a) T O

6 2
– 1

(b) T O

1 8
– 4

(c) T O

2 5
– 3

(d) T O

3 7
– 5

(k)(h) T O

4 7
– 3

(i) T O

2 6
– 4

(j) T O

2 7
– 7

T O

6 8
– 5

(l) T O

6 9
– 8

(m) T O

9 9
– 3

(n) T O

2 6
– 2

(o) T O

4 8
– 7

T O
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SUBTRACTING TENS

Class Work

Subtract:

1.	 7 tens – 3 tens =  tens	 70 – 30 = 

2.	 9 tens – 4 tens =  tens	 90 – 40 = 

3.	 6 tens – 5 tens =  ten	 60 – 50 = 

3 tens remain

70
– 40

30
70 – 40 = 30

Take away 4 tens from 7 tens.

7 tens – 4 tens = 3 tens

3 tens remain

50
– 20

30
50 – 20 = 30

Take away 2 tens from 5 tens.

5 tens – 2 tens = 3 tens

80
– 30

50
80 – 30 = 50

5 tens remain

Take away 3 tens from 8 tens.

8 tens – 3 tens = 5 tens
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Subtract:
EXERCISE 5F

1. T O

3 0
– 2 0

2. T O

2 0
– 1 0

3. T O

4 0
– 2 0

4. T O

5 0
– 3 0

5. T O

1 0
– 1 0

6. T O

8 0
– 5 0

7. T O

6 0
– 4 0

8. T O

8 0
– 7 0

9. T O

6 0
– 5 0

10. T O

6 0
– 2 0

11. T O

7 0
– 3 0

12. T O

8 0
– 3 0

13. T O

9 0
– 2 0

14. T O

9 0
– 8 0

15. T O

5 0
– 2 0

16. T O

4 0
– 3 0

17. T O

9 0
– 4 0

18. T O

4 0
– 2 0

19. T O

5 0
– 5 0

20. T O

7 0
– 1 0

21. T O

3 0
– 3 0

22. T O

4 0
– 1 0

23. T O

2 0
– 2 0

24. T O

7 0
– 6 0

25. T O

9 0
– 7 0
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SUBTRACTING 2-DIGIT NUMBERS (Without Borrowing)
We can subtract the numbers using the following three methods. 
Let us subtract 23 from 55. 
Method 1. Pictorial Method

From 5 tens 5 ones, take 
away 2 tens 3 ones. 

3 tens 2 ones remain.

T O

3 tens 2 ones

Method 2. Expanded Form Method

Method 3. Short Method
Step 1:	 Arrange the numbers in columns of tens and ones.
Step 2:	 Subtract the ones.
		  5 ones – 3 ones = 2 ones
		  Write 2 under the ones column below the line.
Step 3:	 Subtract the tens.
		  5 tens – 2 tens = 3 tens
		  Write 3 under the tens column below the line.
		  The answer is 32.

Class Work

Subtract the following.

T O
5 5

– 2 3
3 2

T O

7 9
– 4 6

1. T O

7 8
– 3 7

3.T O

4 7
– 3 4

2. T O

6 5
– 4 2

4. T O

8 8
– 2 8

5.

	 55	 =		  5 tens	 5 ones
–	 23	 =	 –	 2 tens	 3 ones

				    3 tens	 2 ones	 = 32
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Subtract:

EXERCISE 5G

5. T O
7 5

– 2 4

6. T O
4 9

– 2 8

7. T O
3 8

– 1 7

19. T O
9 2

– 7 2

20. T O
7 6

– 5 4

21. T O
8 3

– 3 3

1. T O
2 3

– 1 1

2. T O
5 7

– 3 4

3. T O
6 4

– 2

4. T O
5 9

– 1 7

8. T O
6 5

– 3 2

9. T O
8 9

– 4 9

10. T O
8 4

– 7 1

11. T O
9 5

– 6 4

12. T O
3 6

– 2 0

13. T O
7 7

– 7 2

14. T O
6 7

– 4 6

15. T O
3 4

– 1 4

16. T O
7 8

– 2 4

17. T O
6 3

– 2 0

18. T O
8 8

– 7 5
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SUBTRACTING 2-DIGIT NUMBERS (With Borrowing)
Subtract 18 from 35.
Method 1. Pictorial Method

–
3 5
1 8

8 is more than 5.
So, 8 cannot be subtracted 
from 5.   
We have: 35 = 3 tens 5 ones
Think of 3 tens 5 ones as 2 tens 
15 ones and 18 is 1 ten 8 ones. 
So, remove 1 ten 8 ones from 2 tens 
15 ones. 
You are left with 1 ten 7 ones, that is 17.

Method 2. Expanded Form Method

	 35			   3 tens	 5 ones			   2 tens	 15 ones
–	 18 		  –	 1 ten	 8 ones		  –	 1 ten	  8 ones
						         		  1 ten	  7 ones

Borrow 1 ten 
from 3 tens

T O

2 15

3 5
– 1 8

1 7

The answer is 17.

=

Teacher’s Tip
Suppose the ones column is you and the tens column is your neighbour. Now I want 8 pencils from you but you have only 5.
Can you give me 8 pencils? No, so you go over to your neighbour (tens column). But your neighbour buys pencils only in
bundles of 10, so he will never give you three or six pencils, but only a group of 10. So you borrow 1 group of ten from your
neighbour and now you have 10 + 5 = 15 pencils and your neighbour is left with 2 groups of 10. Now, you give me 8 pencils 
from 15 pencils, the remainder is yours (ones column).

Note: The neighbour does not lend more than 1 group of 10 at a time.

Take away  
1 ten 8 ones

1 ten and 7 ones are left.

=

=
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1.	 Subtract the following. One has been done for you.

EXERCISE 5H

2.	 Solve the following.

=

(a) T O
3 12

4 2
– 7

3 5

(b) T O

2 0
– 3

(c) T O

2 2
– 6

(d) T O

5 4
– 9

(e) T O

8 1
– 4

(f) T O

8 6
– 9

(g) T O

5 5
– 8

(h) T O

8 3
– 7

(i) T O

9 5
– 9

(j) T O

8 4
– 7

(a) T O

9 6
– 4 8

(b) T O

9 0
– 2 6

(c) T O

7 3
– 2 6

(d) T O

5 7
– 1 9

(e) T O

7 1
– 1 9

(f) T O

6 0
– 1 2

(g) T O

8 1
– 1 8

(h) T O

8 8
– 5 9

(i) T O

7 4
– 4 5

(j) T O

4 3
– 2 6

Subtract 39 from 51.						    

		  51			   5 tens	 1 one		  4 tens	 11 ones
–	 39		  –	 3 tens	 9 ones	 –	 3 tens	  9 ones
								        1 ten 	  2 ones

T O

4 11

5 1
– 3 9

1 2

=

Short Method
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Workspace3.	 Solve the following word problems.

1 2
+ 9

2 1

 books

 girls

 children

3 4
– 1 1

2 3

(a) � There are 12 boys and 9 
girls in Mrs Joshi’s class. 
How many children are 
there in all?

	

(b) � There are 28 story books and 15 
arithmetic books on a shelf. How 
many books are there in all?

	

(c) � There were 34 children 
in the classroom. Eleven 
children went to the library. 
How many were left in the 
classroom?

	

(d) � There are 22 girls and 17 boys in 
Mrs Brown’s class. How many more 
girls than boys are there?

	

(e) � There were 47 children in Miss 
Sen’s class, and 29 children in Miss 
Chopra’s class. How many children 
were there altogether?

21 children

23 children
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Workspace

 boys

 slices

 cups

 children

(f)  �There are 25 boys and 
17 girls taking lunch in 
the school lunch room. 
How many more boys 
were there than girls?

	

(g)  �The boys ate 56 slices of 
bread and the girls ate 
42 slices of bread. How 
many slices were eaten 
in all?

	

(h)  �The boys drank 68 cups of 
milk and the girls drank 
49 cups of milk. How 
many more cups of milk 
did the boys drink?

	

(i)  �There were 30 children of 
the first grade in the lunch 
room. 20 children of the 
second grade also came 
in. How many children in 
all were there in the lunch 
room?
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CHAPTER TEST
Tick () the correct answer.
1.	 �Which numbers can you add to get this sum?

	
97

6 0
+ 2 7

(a) 1 8
+ 8 0

(b) 5 4
+ 4 3

(c) 4 7
+ 2 0

(d)

2.	 Which numbers can you subtract to get this difference?

	
24

8 9
– 4 6

(a) 7 8
– 3 4

(b) 5 6
– 3 2

(c) 6 5
– 3 1

(d)

3.	 The difference of 84 and 25 is
	 (a)	 55 	 	 (b)	59 	 	 (c)	 50 	 	 (d)	 65	
4.	 �Vijay has 35 stickers. He buys some more. Now he has 87 stickers. How many 

stickers does he buy?
	 (a)	 30 	 	 (b)	42 	 	 (c)	 52 	 	 (d)	 62 	
5.	 Without adding, guess which problem has the greatest sum.
	 (a)	 55 + 42	 	 (b)	35 + 22 	 	 (c)	 45 + 32	 	 (d)	 25 + 42	
6.	� There are 59 children. 26 more children join them.
	 How many children in all?

	 Answer:  children
7.	 Tell how did you find out your answer.
	� Divya has 51 stickers. Her dad gives her 25 new 

stickers. Then her mom gives her 12 more. How 
many stickers does she have now? If she uses 26 
stickers then how many stickers are left?

5 9
+ 2 6

First add Then subtract

HOTS

There are many pairs of numbers that make 100. 
For example, 62 + 38 = 100. Write 4 such pairs of numbers.

 +  = 100	  +  = 100
 +  = 100	  +  = 100
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Worksheet

Solve these addition and subtraction problems.

	 20 + 38 = 	 16 + 22 = 	 94 – 60 = 	 89 – 40 = 

	 38 + 10 = 	 20 + 20 = 	 78 – 50 = 	 52 – 30 = 

	 12 + 24 = 	 20 + 30 = 	 86 – 60 = 	 41 – 10 = 

	 23 + 32 = 	 11 + 10 = 	 66 – 20 = 	 83 – 60 = 

	 10 + 20 = 	 11 + 30 = 	 49 – 20 = 	 61 – 10 = 

	 12 + 44 = 	 23 + 31 = 	 94 – 50 = 	 72 – 20 = 

	 12 + 12 = 		  83 – 30 = 

	 Now find each of your answers in the given 100-square grid and colour them.

	 What letters are spelt?    

	 Is a meaningful word formed? Yes/No

1 2 3 4 5 6 7 8 9 10
11 12 13 14 15 16 17 18 19 20
21 22 23 24 25 26 27 28 29 30
31 32 33 34 35 36 37 38 39 40
41 42 43 44 45 46 47 48 49 50
51 52 53 54 55 56 57 58 59 60
61 62 63 64 65 66 67 68 69 70
71 72 73 74 75 76 77 78 79 80
81 82 83 84 85 86 87 88 89 90
91 92 93 94 95 96 97 98 99 100
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There are 4 sets of balls. Each set has 2 balls.
There are 2 + 2 + 2 + 2 = 8 balls in all.
2 is repeatedly added 4 times.
In short, it can be written as 4 × 2 = 8  and read as
4 times 2 is 8  or 4 twos are 8  or 4 multiplied by 2 equals 8 .

Multiplication6

There are 5 sets of apples. Each set has 6 apples.
There are 6 + 6 + 6 + 6 + 6 = 30 apples in all.
6 is repeatedly added 5 times.
In short, it can be written as 5 × 6 = 30  and read as
5 times 6 is 30  or 5 sixes are 30  or 5 multiplied by 6 equals 30 .

Teacher’s Tip
Explain to the child that the shorter and faster way of adding the same number many times is called multiplication.
‘×’ is the symbol for multiplication just as we have ‘+’ as the symbol for addition. 
Thus, if you have to add 2, hundred times, then instead of writing 2 + 2 + 2 + ..., 100 times and then add we can simply say
100 twos = 100 × 2 = 200 read as 100 times 2 = 200.
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REPEATED ADDITION AS MULTIPLICATION

	 Repeated Addition 	 Multiplication

2 + 2 + 2	 2 added 3 times 	 is the same as	 3 × 2	 3 twos or 3 times 2
4 + 4 + 4 + 4 + 4	 4 added 5 times 	 is the same as	 5 × 4	 5 fours or 5 times 4
7 + 7	 7 added 2 times 	 is the same as	 2 × 7	 2 sevens or 2 times 7
6 + 6 + 6 + 6	 6 added 4 times 	 is the same as	 4 × 6	 4 sixes or 4 times 6

9 + 9 + 9 + 9 + 9 + 9	 9 added 6 times 	 is the same as	 6 × 9	 6 nines or 6 times 9

MULTIPLICATION AS REPEATED ADDITION

Multiplication Repeated Addition

	   2 × 7	 is the same as	 7 + 7

	   4 × 10	 is the same as	 10 + 10 + 10 + 10

	   3 × 8	 is the same as	 8 + 8 + 8

	   7 × 6	 is the same as	 6 + 6 + 6 + 6 + 6 + 6 + 6

	 10 × 1	 is the same as	 1 + 1 + 1 + 1 + 1 + 1 + 1 + 1 + 1 + 1

	   1 × 5	 is the same as	 5
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EXERCISE 6A

1.	 Show each repeated addition as multiplication.

	 (a)	 2 + 2 + 2 = 	 (b)	 4 + 4 =

		
3 × 2 6=

		
× =

	 (c)	 5 + 5 + 5 + 5 = 	 (d)	 7 + 7 + 7 + 7 + 7 =

		
× =

		
× =

	 (e)	 6 + 6 + 6 + 6 + 6 + 6 = 	 (f)	 2 + 2 + 2 + 2 + 2 + 2 + 2 =

		
× =

		
× =

Class Work

Match the picture given in the middle column to its multiplication form and 
repeated addition form by drawing lines.

	 Multiplication	 Picture	 Repeated addition 	
	 form		  form

	 5 × 3		  5 + 5 + 5

	 3 × 5		  1 + 1 + 1 + 1 + 1 + 1

	 6 × 1		  7 + 7 + 7 + 7

	 4 × 7		  3 + 3 + 3 + 3 + 3
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2. 	 Change the following multiplication forms to the repeated addition forms.

	 (a)	 3	 ×	 6	 =	 6 	 +	 6 	 +	 6

	 (b)	 2	 ×	 4	 =	 	 +	

	 (c)	 5	 ×	 2	 =	 	 +	 	 +	 	 +	 	 +	

	 (d)	 4	 ×	 5	 =	 	 +	 	 +	 	 +	

	 (e)	 3	 ×	 10	 =	 	 +	 	 +	

3. 	 Fill in the blanks and boxes.
	 (a)	 5 threes are 
		  5 multiplied by 3 is 

		  3 added 5 times = 5 × 3 =

		  3 + 3 + 3 + 3 + 3 = 
		  5 times 3 is 

	 (b)	 5 added 3 times = 3 × 5 =
		  5 + 5 + 5 = 

		  3 fives are 
		  3 multiplied by 5 is 
		  3 times 5 is 

	 (c)	  × 	 =	

		   times 	 =	

	 (d)	  × 	 =	

		   times 	 =	
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3× =

5 × =

× =

× =

× =

4. 	 Write the multiplication fact for the following.
	 (a)

	 (b)

	 (c)

	 (d)

	 (e)

Mental Maths 	 Subject Link English

Show each repeated addition as multiplication by filling in the blanks. Then answer 
the riddle by writing the letter beside each question on the correct answer.

3 + 3 + 3 + 3 =  × 3  R	 1 + 1 + 1 + 1 + 1  +  1 =  × 1  B

8 + 8 + 8 + 8 + 8 = 5  ×  Y	 10 + 10 =  × 10  A

9 + 9 + 9 + 9 + 9 + 9 + 9 =  × 9  F	 7 + 7 + 7 =  × 7  U

2 + 2 + 2 + 2 + 2 + 2 + 2 + 2 + 2 + 2 =  × 2  E

5 + 5 + 5 + 5 + 5 = 5  ×  R

Riddle:
Which month of the year has the least number of days?

	 7 	 10	 6 	 4 	 3 	 2 	 5
R

	 8
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MULTIPLICATION TABLES
2 + 2 + 2 = 6. 2 added 3 times = 6. In short way, it is written as 3 × 2 = 6.
It is called a multiplication fact and read as
	 3 twos are 6    or   3 multiplied by 2 is 6    or       3 times 2 is 6.
We can write the multiplication facts in the form of tables called multiplication 
tables. Here we will build the multiplication tables of numbers 1 to 5 and 10.

Multiplication Table of 1

1 1 added 1 time 1 × 1

  1 + 1 1 added 2 times 2 × 1

    1 + 1 + 1 1 added 3 times 3 × 1

      1 + 1 + 1 + 1 1 added 4 times 4 × 1

        1 + 1 + 1 + 1 + 1 1 added 5 times 5 × 1

        1 + 1 + 1 + 1 + 1 + 1 1 added 6 times 6 × 1

        

  
1 + 1 + 1 + 1 + 1 + 1 + 1 1 added 7 times 7 × 1

        

    
1 + 1 + 1 + 1 + 1 + 1 + 1 + 1 1 added 8 times 8 × 1

        

      
1 + 1 + 1 + 1 + 1 + 1 + 1 + 1 + 1 1 added 9 times 9 × 1

        

        
1 + 1 + 1 + 1 + 1 + 1 + 1 + 1 + 1 + 1 1 added 10 times 10 × 1
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1 one is 1.

2 ones are 2.

3 ones are 3.

4 ones are 4.

5 ones are 5.

6 ones are 6.

7 ones are 7.

8 ones are 8.

9 ones are 9.

10 ones are 10.

1 × 1 = 1

2 × 1 = 2

3 × 1 = 3

4 × 1 = 4

5 × 1 = 5

6 × 1 = 6

7 × 1 = 7

8 × 1 = 8

9 × 1 = 9

10 × 1 = 10

Multiplying by 1

1 time 1 is 1.

1 time 2 is 2.

1 time 3 is 3.

1 time 4 is 4.

1 time 5 is 5.

1 time 6 is 6.

1 time 7 is 7.

1 time 8 is 8.

1 time 9 is 9.

1 time 10 is 10.

1 ×  1 = 1

1 ×  2 = 2

1 ×  3 = 3

1 ×  4 = 4

1 ×  5 = 5

1 ×  6 = 6

1 ×  7 = 7

1 ×  8 = 8

1 ×  9 = 9

1 × 10 = 10

1 time table

Class Work

Complete the multiplication facts.

	 1 × 5	 =	 	 1 × 2	 =	 	 4 × 1	 =	

	 1 × 7	 =	 	 9 × 1	 =	 	 3 × 1	 =	

	 8 × 1	 =	 	 1 × 10	=	 	 6 × 1	 =	
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Multiplication Table of 2

2 2 added 1 time 1 × 2

2 + 2 2 added 2 times 2 × 2

2 + 2 + 2 2 added 3 times 3 × 2

2 + 2 + 2 + 2 2 added 4 times 4 × 2

2 + 2 + 2 + 2 + 2 2 added 5 times 5 × 2

2 + 2 + 2 + 2 + 2 + 2 2 added 6 times 6 × 2

2 + 2 + 2 + 2 + 2 + 2 + 2 2 added 7 times 7 × 2

2 + 2 + 2 + 2 + 2 + 2 + 2 + 2 2 added 8 times 8 × 2

2 + 2 + 2 + 2 + 2 + 2 + 2 + 2 + 2 2 added 9 times 9 × 2

2 + 2 + 2 + 2 + 2 + 2 + 2 + 2 + 2 + 2 2 added 10 times 10 × 2
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1 two is 2.

2 twos are 4.

3 twos are 6.

4 twos are 8.

5 twos are 10.

6 twos are 12.

7 twos are 14.

8 twos are 16.

9 twos are 18.

10 twos are 20.

1 × 2 = 2

2 × 2 = 4

3 × 2 = 6

4 × 2 = 8

5 × 2 = 10

6 × 2 = 12

7 × 2 = 14

8 × 2 = 16

9 × 2 = 18

10 × 2 = 20

Multiplying by 2

2 times 1 is 2.

2 times 2 is 4.

2 times 3 is 6.

2 times 4 is 8.

2 times 5 is 10.

2 times 6 is 12.

2 times 7 is 14.

2 times 8 is 16.

2 times 9 is 18.

2 times 10 is 20.

2 ×  1 = 2

2 ×  2 = 4

2 ×  3 = 6

2 ×  4 = 8

2 ×  5 = 10

2 ×  6 = 12

2 ×  7 = 14

2 ×  8 = 16

2 ×  9 = 18

2 × 10 = 20

2 times table

Use objects that come in pairs as shoes, socks, hands, eyes, etc., to teach the concept of multiplication 
by 2 in concrete terms. Make four children come forward. How many shoes on the 4 children?

2 + 2 + 2 + 2 = 4 × 2 = 8
Similarly, you can go on with different numbers and objects.

(Teacher to Assist)Maths Lab Activity
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EXERCISE 6B

1.			   2.

Buy 1 lollipop for ` .	 Buy 1 apple for ` .

Buy 2 lollipops for ` 4 + ` 4 = ` 8 	 Buy 2 apples for ` 5 + ` 5 = ` 10

2 fours	 =	 	 2 fives	 =	

2 times 4	 =	 	 2 times 5	 =	

2 × 4	 =	 	 2 × 5	 =	

3.			   4.

Buy 1 for		  rupees.	 Buy 1 for		  rupees.

Buy 2 for		  rupees.	 Buy 2 for		  rupees.

2 × 10 	 =	 	 2 × 8 	 =	

5.	� A basket has 2 oranges. How many oranges  
are there in 6 baskets?

		    ×    = 

6.	 How many umbrellas are there in 7 pairs of umbrellas?

		    ×    = 

` 10 each

` 4 ` 4
` 5 ` 5

Answer: ` 

Answer: ` 

Answer: ` 

Answer: ` 

` 8 each
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Multiplication Table of 3

3 3 added 1 time 1 × 3

3 + 3 3 added 2 times 2 × 3

3 + 3 + 3 3 added 3 times 3 × 3

3 + 3 + 3 + 3 3 added 4 times 4 × 3

3 + 3 + 3 + 3 + 3         3 added 5 times 5 × 3

3 + 3 + 3 + 3 + 3 + 3 3 added 6 times 6 × 3

3 + 3 + 3 + 3 + 3 + 3 + 3 3 added 7 times 7 × 3

3 + 3 + 3 + 3 + 3 + 3 + 3 + 3 3 added 8 times 8 × 3

3 + 3 + 3 + 3 + 3 + 3 + 3 + 3 + 3 3 added 9 times 9 × 3

3 + 3 + 3 + 3 + 3 + 3 + 3 + 3 + 3 + 3 3 added 10 times 10 × 3
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1 three is 3.
2 threes are 6.
3 threes are 9.
4 threes are 12.
5 threes are 15.
6 threes are 18.
7 threes are 21.
8 threes are 24.
9 threes are 27.
10 threes are 30.

1 × 3 = 3
2 × 3 = 6
3 × 3 = 9
4 × 3 = 12
5 × 3 = 15
6 × 3 = 18
7 × 3 = 21
8 × 3 = 24
9 × 3 = 27

10 × 3 = 30

Multiplying by 3

3 times 1 is 3.
3 times 2 is 6.
3 times 3 is 9.
3 times 4 is 12.
3 times 5 is 15.
3 times 6 is 18.
3 times 7 is 21.
3 times 8 is 24.
3 times 9 is 27.
3 times 10 is 30.

3 ×  1 = 3
3 ×  2 = 6
3 ×  3 = 9
3 ×  4 = 12
3 ×  5 = 15
3 ×  6 = 18
3 ×  7 = 21
3 ×  8 = 24
3 ×  9 = 27
3 × 10 = 30

3 times table

EXERCISE 6C

1.	� There are 3 girls. Each girl has a bunch of 4 flowers. How many flowers are there 
in all?

		  4 + 4 + 4	 =	

		  3 × 4	 =	 12
	 There are 12 flowers in all.

2.	� There are 4 plates. Each plate has 3 cakes on it. How many cakes are there in all?

	    	    4  ×  = 

3.	 Fill in the empty boxes.

	 (a)	 3 × 5 = 	 (b)	 3 × 7 = 	 (c)	 8 threes = 

	 (d)	 3 + 3 = 	 (e)	 3 + 3 + 3 = 	 (f)	 10 threes = 

© S C
ha

nd
 an

d C
om

pa
ny

 Pvt 
Ltd



101

MathsWiz-01

Multiplication Table of 4

4 4 added 1 time 1 × 4

 4 + 4 4 added 2 times 2 × 4

  4 + 4 + 4 4 added 3 times 3 × 4

   4 + 4 + 4 + 4 4 added 4 times 4 × 4

    4 + 4 + 4 + 4 + 4 4 added 5 times 5 × 4

    4 + 4 + 4 + 4 + 4 + 4 4 added 6 times 6 × 4

    

 
4 + 4 + 4 + 4 + 4 + 4 + 4 4 added 7 times 7 × 4

    

  
4 + 4 + 4 + 4 + 4 + 4 + 4 + 4 4 added 8 times 8 × 4

    

   
4 + 4 + 4 + 4 + 4 + 4 + 4 + 4 + 4 4 added 9 times 9 × 4

    

    
4 + 4 + 4 + 4 + 4 + 4 + 4 + 4 + 4 + 4 4 added 10 times 10 × 4
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1 four is 4.
2 fours are 8.
3 fours are 12.
4 fours are 16.
5 fours are 20.
6 fours are 24.
7 fours are 28.
8 fours are 32.
9 fours are 36.
10 fours are 40.

1 × 4 = 4
2 × 4 = 8
3 × 4 = 12
4 × 4 = 16
5 × 4 = 20
6 × 4 = 24
7 × 4 = 28
8 × 4 = 32
9 × 4 = 36

10 × 4 = 40

Multiplying by 4

4 times 1 is 4.
4 times 2 is 8.
4 times 3 is 12.
4 times 4 is 16.
4 times 5 is 20.
4 times 6 is 24.
4 times 7 is 28.
4 times 8 is 32.
4 times 9 is 36.
4 times 10 is 40.

4 ×  1 = 4
4 ×  2 = 8
4 ×  3 = 12
4 ×  4 = 16
4 ×  5 = 20
4 ×  6 = 24
4 ×  7 = 28
4 ×  8 = 32
4 ×  9 = 36
4 × 10 = 40

4 times table

EXERCISE 6D

1.	 Fill in the empty boxes with the correct numbers.
	 (a)	 4 + 4 + 4 + 4 + 4 =  ×  = 20

	 (b)	 9 fours are .	 (c)	 3 fours are .

	 (d)	 4 times 3 is .	 (e)	 4 times 10 is .

2.	 One branch has 4 leaves.
	 3 branches have  ×  =  leaves.

3.	 One car has 4 wheels.

	     
	 5 cars have  ×  =  wheels.
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(Teacher to Assist)Maths Lab Activity

This concept can be clearly taught with hands. Each hand has 5 fingers. If you ask say 3 hands to 
be raised, then how many fingers? 5 + 5 + 5 = 3 × 5 = 15. So, make the children raise different 
number of hands and also make them write the addition form and multiplication form of the same.

Multiplication Table of 5

5 5 added 1 time 1 × 5

5 + 5 5 added 2 times 2 × 5

5 + 5 + 5 5 added 3 times 3 × 5

5 + 5 + 5 + 5 5 added 4 times 4 × 5

5 + 5 + 5 + 5 + 5 5 added 5 times 5 × 5

5 + 5 + 5 + 5 + 5 + 5 5 added 6 times 6 × 5

5 + 5 + 5 + 5 + 5 + 5 + 5 5 added 7 times 7 × 5

5 + 5 + 5 + 5 + 5 + 5 + 5 + 5 5 added 8 times 8 × 5

5 + 5 + 5 + 5 + 5 + 5 + 5 + 5 + 5 5 added 9 times 9 × 5

5 + 5 + 5 + 5 + 5 + 5 + 5 + 5 + 5 + 5 5 added 10 times 10 × 5
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1 five is 5.

2 fives are 10.

3 fives are 15.

4 fives are 20.

5 fives are 25.

6 fives are 30.

7 fives are 35.

8 fives are 40.

9 fives are 45.

10 fives are 50.

1 × 5 = 5

2 × 5 = 10

3 × 5 = 15

4 × 5 = 20

5 × 5 = 25

6 × 5 = 30

7 × 5 = 35

8 × 5 = 40

9 × 5 = 45

10 × 5 = 50

Multiplying by 5

5 times 1 is 5.

5 times 2 is 10.

5 times 3 is 15.

5 times 4 is 20.

5 times 5 is 25.

5 times 6 is 30.

5 times 7 is 35.

5 times 8 is 40.

5 times 9 is 45.

5 times 10 is 50.

5 ×  1 = 5

5 ×  2 = 10

5 ×  3 = 15

5 ×  4 = 20

5 ×  5 = 25

5 ×  6 = 30

5 ×  7 = 35

5 ×  8 = 40

5 ×  9 = 45

5 × 10 = 50

5 times table

EXERCISE 6E

Fill in the blanks.
1.	 Reena has 6 dresses. Each dress has 5 buttons.
	 How many buttons altogether?	  ×  = 
2.	 There are 4 dogs in a house. Each dog has 5 puppies.
	 How many puppies in all?  	  ×  = 
3.	 A garden has 8 rows of 5 flowers each.
	 How many flowers in all?	  ×  = 
4.	 5 + 5 + 5 + 5 + 5 + 5 + 5  =	  ×  = 
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Multiplication Table of 10

10 10 added 1 time 1 × 10 =   10

10 + 10 10 added 2 times 2 × 10 =   20

10 + 10 + 10 10 added 3 times 3 × 10 =   30

10 + 10 + 10 + 10 10 added 4 times 4 × 10 =   40

10 + 10 + 10 + 10 + 10 10 added 5 times 5 × 10 =   50

10 + 10 + 10 + 10 + 10 + 10 10 added 6 times 6 × 10 =   60

10 + 10 + 10 + 10 + 10  
+ 10 + 10 10 added 7 times 7 × 10 =   70

10 + 10 + 10 + 10 + 10  
+ 10 + 10 + 10 10 added 8 times 8 × 10 =   80

10 + 10 + 10 + 10 + 10  
+ 10 + 10 + 10 + 10 10 added 9 times 9 × 10 =   90

10 + 10 + 10 + 10 + 10  
+ 10 + 10 + 10 + 10 + 10 10 added 10 times 10 × 10 = 100
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1 ten is 10.

2 tens are 20.

3 tens are 30.

4 tens are 40.

5 tens are 50.

6 tens are 60.

7 tens are 70.

8 tens are 80.

9 tens are 90.

10 tens are 100.

1 × 10 = 10

2 × 10 = 20

3 × 10 = 30

4 × 10 = 40

5 × 10 = 50

6 × 10 = 60

7 × 10 = 70

8 × 10 = 80

9 × 10 = 90

10 × 10 = 100

Multiplying by 10

10 times 1 is 10.

10 times 2 is 20.

10 times 3 is 30.

10 times 4 is 40.

10 times 5 is 50.

10 times 6 is 60.

10 times 7 is 70.

10 times 8 is 80.

10 times 9 is 90.

10 times 10 is 100.

10 ×  1 = 10

10 ×  2 = 20

10 ×  3 = 30

10 ×  4 = 40

10 ×  5 = 50

10 ×  6 = 60

10 ×  7 = 70

10 ×  8 = 80

10 ×  9 = 90

10 × 10 = 100

10 times table

EXERCISE 6F

Write the multiplication fact for the given group of objects.

1.	    	  ×  = 

2.	  	     ×  = 

3.		   ×  = 
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MULTIPLICATION TABLE CHART

× 1 2 3 4 5 6 7 8 9 10

1 1 2 3 4 5 6 7 8 9 10

2 2 4 6 8 10 12 14 16 18 20

3 3 6 9 12 15 18 21 24 27 30

4 4 8 12 16 20 24 28 32 36 40

5 5 10 15 20 25 30 35 40 45 50

The above chart will help you to do the multiplication sums. 
We have shown here 3 × 5 = 15 and 5 × 9 = 45.

Use the above chart to do the following multiplication sums.

	 1.	 2 × 5	 =	 	 2. 	 3 × 8	 =	 	 3. 	 4 × 9	 =	

	 4.	 5 × 7	 =	 	 5.	 2 × 9	 =	 	 6.	 5 × 10	 =	

	 7.	 1 × 8	 =	 	 8.	 4 × 7	 =	 	 9.	 3 × 4	 =	

10.	 5 × 3	 =	 	 11.	 2 × 7	 =	 	 12.	 3 × 3	 =	

13.	 2 × 3	 =	 	 14.	 4 × 8	 =	 	 15.	 4 × 3	 =	

16.	 5 × 6	 =	 	 17.	 3 × 9	 =	 	 18.	 5 × 8	 =	  

EXERCISE 6G
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6.	 How many buttons are needed for 6 shirts

	 if each shirt is to have 4 buttons?

	  ×  = 

7.	 One sheet of coloured paper costs ` 4.
	 How much will 9 sheets cost?

	  ×  = 

8.	 There are 5 shelves in a bookcase. 10 books can be put in one shelf. 
	 How many books can be put in the bookcase?

		   ×  = 

CHAPTER TEST

	 1.	 Fill in the boxes to make the statements true.

		  (a) 7 + 7 + 7 =  × 

		  (b) 8 × 4 =  +  +  +  +  +  +  + 

	 2.	 Subtract 8 × 2 from 5 × 4.  –  = 

	 3.	 One ticket costs ` 8. How much will 10 tickets cost? 

	 4.	 There are 5 rows of seats in a theatre. Each row has 8 seats. 

		  How many persons can watch the play in the theatre? 

5.	 5 children can be seated on a bench.
	 How many children will sit on 6 benches?

		   ×  = 
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PUBLISHED BY - NCERT

> OPEN GOOGLE PLAY STORE

> SEARCH NCERT �कताब�और समाधान ।

> DOWNLOAD NCERT क� �कताब�

> क�ा - 1 क� �कताब�

> �रम�झम 1

> य�ूनट - 5 "पकौड़ी"

> य�ूनट- 6 " छुक छुक गाड़ी "

For assignment .3

Do exercises{ Ch -5}

-�या भाता ह ?ै�या नह� भाता?

- �या सनुा?

- प�हया ,प�हए ,बोलो �कतन पे�हए?

Do exercises {Ch-6}

- नाम बताओ, परूा करो

Video link:-

1. For chapter 5 - https://youtu.be/N2J5v3A57Jw

2. For chapter 6 - https://youtu.be/FFkDyO0gNes
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5- idkSM+h

nkSM+h&nkSM+h
vkbZ idkSM+hA

Nqu&Nqu Nqu&Nqu
rsy esa ukph]
IysV esa vk
'kjekbZ idkSM+hA

nkSM+h&nkSM+h
vkbZ idkSM+hA

gkFk ls mNyh
eq¡g esa igq¡ph]
isV esa tk
?kcjkbZ idkSM+hA

nkSM+h&nkSM+h
vkbZ idkSM+hA

esjs eu dks
HkkbZ idkSM+hA

2020-21
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ph”ksa e”ks ls [kkuk iM+sxk fcYoqQy ugha
[kk,¡xs [kk,¡xs

tysch

idkSM+h

cSaxu

pqLdh

djsyk

?kh;k

vkyw

vke

 D;k Hkkrk gS\ D;k ugha Hkkrk\

cPpksa ls mudh ila n&ukila n dh ph”kksa osQ ckjs esa ckrphr djsa vkSj mlosQ vuqlkj mfpr [kkus esa lgh dk fu'kku
yxkus dks dgsaA

Hk t

g M+ vkS

 (ykSdh)

2020-21
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* cPpksa ls cl ds fp=k ij ckrphr djsa µ cl esa
dkSu&dkSu cSBk gS\ Mªkboj D;k dj jgk gS vkfnA
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D;k lquk\

[kkyh txg esa vkok”ksa fy[kksA

x V

------------------------- -------------------------

Hkkasiw lhVh

cl jksrk gqvk cPpk

rqEgsa tks lokjh lcls vPNh yxrh gS] mldk
fPk=k cukvksA

------------------------- -------------------------

;

2020-21
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1 ifg;k] 2 ifg,
cksyks fdlosQ fdrus ifg,\

Bsyk ---------------- Vªd ----------------

rk¡xk ---------------- cl ----------------

LowQVj ---------------- fjD'kk ----------------

cSyxkM+h ---------------- dkj ----------------

lkbfdy ---------------- vkWVks fjD'kk ----------------

ikuh dk tgk”k ---------------- gokbZ tgk”k ----------------

2020-21
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6- Nqd&Nqd xkM+h

NwVh esjh jsyA
js ckcw] NwVh esjh jsyA
gV tkvks] gV tkvks HkS;k!
eSa u tkuw¡] fiQj oqQN HkS;k!
Vdjk tk, jsyA

/d&/d] /d&/d] /w&/w] /w&/w!
Hkd&Hkd] Hkd&Hkd] Hkw&Hkw] Hkw&Hkw!
Nd&Nd Nd&Nd] Nw&Nw] Nw&Nw!
djrh vkbZ jsyA

batu bldk Hkkjh&HkjdeA
c<+rk tkrk xexe xexeA
/e/e /e/e] /e/e /e/eA
djrk Bsye BsyA

lquks xkMZ us ns nh lhVhA
fVdV ns[krk fiQjrk VhVhA
lVh gqbZ ohVh ls ohVhA
djrh isye isyA

NwVh esjh jsyA

jb

2020-21
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 brus lkjs jax

fiNys iUuksa esa bu jaxksa dks <+¡w<+ksA bu jaxksa okyh
ph”kksa osQ fp=k cukvksA

eq>s pkfg,
dkyk jax

brus lkjs fc[kjs jax !
rqEgsa pkfg, dkSu&lk jax \

eq>s pkfg,
yky jax

eq>s pkfg,
gjk jax

eq>s pkfg,
ihyk jax

2020-21
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uke crkvks

iwjk djks

NwVh esjh jsy] js ckcw -----------------------------------------------------A

lquks xkMZ us ns nh ----------------------------------------------------------A

------------------------

------------------------ ------------------------

------------------------ ------------------------

gj fMCCks ij mlosQ jax okyh fdlh ph”k dk uke fy[kksA

vc rd fiNys iUuksa esa ftruh Hkh ph”kksa osQ uke vk, gSa mudh lwph cPpksa dh enn ls ';kei^ ij
fy[ksaA mu ph”kksa esa ls fdlh ,d ph”k dks jax osQ vuqlkj vyx&vyx jax osQ fMCcksa esa fy[kus dks dgsaA

2020-21



JTGOLDENJUBILEESCHOOL

Session-(2020-2021)

Class-1E.V.S-(Book-HelloEarth)

StudyMaterial:

Followtheinstructionsgivenbelow-

1)VisitanddownloadstudymaterialfromJTGJSschoolwebsite

(https://jtgjschool.in)

2)DownloadthePDFofclass1(HE...1...pdf)

3)OpentheChapter5MySchool&Chapter6Plantsaroundus

4)Readthechaptersthoroughly

5)Trytounderstandnewwords.

6)Learnallthekeywordsgivenattheendofeachchapter.

ASSIGNMENT-

Dotheexercisesinyouroldnotebook/Schooldiary/Activity

sheets/Anyothernotebookavailableathome.

EXERCISESFORCHAPTER-5and6

A)Matchtherows

B)FillIntheblankswiththecorrectwords

C)True/False

D)Answerthefollowingquestions

1)-Whydowegotoschool?

2)-Whatisaplayground?Howmanyplaygroundsarethereinyourschool?

3)-Whatisatree?Givetwoexamples,

4)-Whatdoesaseedneedtogrowintoanewplant?

E)Writeonewordanswers:-



1)Aplacewherechildrengotostudy-

2)Aplacewhereonecangotoreadandborrowbooks-

3)Aplacewhereteacherstakerestordowork-

4)Aroomwithdesksandtelephoneswhereworkisdone-

5)Asmallplantwithwoodystems-

6)Asmallplantwithasoftstem-

7)Aplantwithaweakstemthatneedssupporttostand-

8)Aplantwithaweakstemthatgrowsalongtheground-

ACTIVITY

1-Drawandcolourtwothingsthatyouseeintheclassroom

(blackboard,Dustbin)

2-Draw andcolouranyfourthingsyougetfromplants.

Forclass1Evs

Chapter5andchapter6

Videotutorialsofthelessons.

Toaccessthevideosclickthegivenlink

1)Myschool-https://youtu.be/V5aRqXSDE6Y

2)Plantsaroundus-a)https://youtu.be/vEeHj7wzyg8

b)https://youtu.be/etUDbosy1ik




















	CLASS_1_ART.pdf (p.1)
	class_1_Assingment-3_COMP.pdf (p.2-7)
	CLASS_1_ENGLISH.pdf (p.8-10)
	Class_1_Maths_3_assignment.pdf (p.11-52)
	HINDI.pdf (p.53-65)
	class_1_03_assignment_EVS(2020-21).pdf (p.66-76)

